

$$y_2(a-1)a^r + a + r$$

$$\text{و با } a_2 = \frac{b_2}{r a} \quad r_2 = \frac{1}{r(a-1)} \quad \text{و } (a - r_2 - 1) \Rightarrow a_2 = \boxed{\frac{r}{4}}$$

$$y_2 - \frac{1}{r} a^r + a + r \stackrel{y_2}{\sim} -\frac{1}{r} a^r + a + r = 0 \Rightarrow a^r - r a - 1 = 0$$

$$\rightarrow a_2 = \frac{r \pm 1}{r} \quad \begin{matrix} a_1 = 1 \\ a_2 = r \end{matrix} \quad \boxed{a_2 = r}$$

$$f(m) = m a^r - \Delta a + m$$

$$\Delta_2 (-\Delta)^r - f m^r = r \Delta - f m^r \Delta > 0 \quad r \Delta - f m^r > 0 \rightarrow f m^r < r \Delta \rightarrow |m| < \frac{\Delta}{r}$$

$$\xrightarrow{m < 0} -\frac{\Delta}{r} < m < 0 \rightarrow \boxed{-\frac{\Delta}{r} < m < 0} \rightarrow \begin{matrix} -r, \Delta & r, \Delta \\ - & + & - \end{matrix}$$

$$a_1 = \frac{r + \sqrt{5}}{r}, \quad a_2 = \frac{r - \sqrt{5}}{r} \rightarrow a^r - (a_1 + a_2)a + a_1 a_2 = 0$$

$$\rightarrow a_1 + a_2 = r, \quad a_1 a_2 = \frac{r}{q} \rightarrow a^r - r a + \frac{r}{q} = 0$$

$$\times q \rightarrow q a^r - 1 r a + r = 0$$

$$r a^r - 1 r a + m + r = 0$$

$$r a^r + B^r = 1 r \sim r a^r (f - \alpha)^r = 1 r \rightarrow f a^r - 1 r a + r = 0 \xrightarrow{\Delta} \alpha < 1$$

$$A + B = \frac{b}{a} = \frac{1}{r} = f \rightarrow B = f - \alpha \quad \begin{matrix} \rightarrow B = f - \alpha > B = r \\ \rightarrow \alpha < B \end{matrix}$$

$$A B = \frac{c}{a} = \frac{m+r}{r} \sim a B = 1 \times r = r = \frac{m+r}{r} \Rightarrow \boxed{m = f}$$

$$\sigma_1 \rightarrow (r, q) \rightarrow (h, a)$$

$$y_2 a(a-h)^r + a \rightarrow y_2 a(a-r)^r + a \sim -(a-r)^r + a$$

$$\rightarrow a - r = \pm r \quad \begin{matrix} a_1 = -1 \\ a_2 = \Delta \end{matrix}$$

$$\rightarrow a(a-r)^r + a = 0 \rightarrow a + a = 0 \Rightarrow a = -1$$

$$\sim -1 < a < \Delta \quad \downarrow \quad (-1, \Delta)$$

$\alpha A^r - V A + 4B = 0$ $\frac{1}{\alpha} + \frac{1}{B} = \frac{1}{-r} + \frac{r}{r} = \boxed{\frac{V}{r}}$ $A_1 + A_r = -\frac{b}{a} = \frac{V}{a}$ $A_1 A_r = \frac{c}{a} \sim \frac{4B}{a} \rightarrow \alpha B = \frac{4B}{\alpha} = \alpha^r = a \rightarrow a = \pm r$	6
$A^r + mA - rM = 0 \quad a + B = -M \leftarrow \frac{-r}{r} \leftarrow M = \frac{-r \pm \sqrt{r^2 - 4m}}{r} \leftarrow \begin{matrix} m_1 = r \\ m_2 = -r \end{matrix}$ $a^r - mB = \Lambda$ $a + B = -M \rightarrow M = -(a+B) \xrightarrow{\text{sub}} a^r - (-(a+B))B = \Lambda$ $\rightarrow a^r + B(a+B) = \Lambda \rightarrow a^r + aB + B^r = \Lambda$ $\alpha B = -rM$ $\rightarrow (a+B)^r = a^r + r\alpha B + B^r \rightarrow (a+B)^r - aB = \Lambda \rightarrow M^r + rM - \Lambda = 0$	7
$f(x) = mx^r + tx + \frac{m}{r} + V$ $f(x) = \frac{b}{ra} \rightarrow \frac{-r}{m} = \frac{-r}{m} = k \rightarrow F(k) = \Lambda \rightarrow F\left(-\frac{r}{m}\right) = m\left(\frac{r}{m^r}\right) + t\left(-\frac{r}{m}\right) + \frac{m}{r} + V$ $\rightarrow \frac{r}{m} - \frac{\Lambda}{m} + \frac{m}{r} + V \rightarrow F\left(-\frac{r}{m}\right) = -\frac{r}{m} + \frac{m}{r} + V = \Lambda \rightarrow -\frac{r}{m} + \frac{m}{r} = \Lambda$ $\rightarrow -\Lambda + m^r - rM \rightarrow m^r - rM - \Lambda = 0$ $M = \frac{r \pm \sqrt{r^2 + 4\Lambda}}{r} = \frac{r \pm \sqrt{r^2 + 4\Lambda}}{r} \xrightarrow{\text{sub}} f(x) = rx^r + tx + \frac{m}{r} \rightarrow A = \frac{r}{r}$	8
$f(x) = a(x-r)^r + 9 \xrightarrow{\text{sub}} f = a(0-r)^r + 9 = t \Rightarrow ta + 9 \rightarrow a = -\frac{1}{r}$ $f(x) = -\frac{1}{r}(x-r)^r + 9 \xrightarrow{\text{sub}} -\frac{1}{r}(x-r)^r + 9 = 0 \rightarrow (x-r)^r = 18 \leftarrow \begin{matrix} A_1 = r + \sqrt{r} \\ A_2 = r - \sqrt{r} \end{matrix}$ $\rightarrow \frac{1}{a_1} + \frac{1}{a_2} = \frac{A_1 + A_2}{A_1 A_2} = \frac{r + \sqrt{r} + r - \sqrt{r}}{r - 1r} = \frac{r}{-1r} = \boxed{-\frac{1}{r}}$	9
$A^r - (ta + t)A + (ra^r + 9a + r) = 0$ $\rightarrow A_1 + A_r = ta + t \quad A_1 = r \quad r + A_r = ta + t \rightarrow A_r = ta + r$ $\rightarrow A_1 A_r = ra^r + 9a + r \quad r(ta + r) = ra^r + 9a + r \Rightarrow$ $\rightarrow \Lambda a + t = ra^r + 9a + r \rightarrow ra^r - ra - 1 = 0 \rightarrow \frac{r \pm \sqrt{r^2 + 4r}}{r}$ $\leftarrow \begin{matrix} a_1 = 1 \Rightarrow A_r = 9 \\ a_2 = -\frac{1}{r} \Rightarrow A_r = \frac{r}{r} \end{matrix} \rightarrow \boxed{9, \frac{r}{r}}$	10